2.341 Spring 2014 Problem T Solution: (a)  $V_{\theta}(r, Z) = rW(Z)$   $V_{r} = V_{Z} = 0$  $\Delta \Lambda = \begin{bmatrix} -\frac{1}{3}\frac{90}{4} - \frac{1}{6} & \frac{1}{3}\frac{90}{46} + \frac{1}{64} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{4} - \frac{1}{6} & \frac{1}{3}\frac{90}{46} + \frac{1}{64} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{4} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{46} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{46} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{46} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{46} & \frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}\frac{90}{54} \\ -\frac{1}{3}$ - DZ JV0 JV0 2V2 82 W(Z) 0 -W(2) 0 rdw dz  $\vec{z} = \nabla V + (\nabla V)^T \Rightarrow \vec{z} = \begin{bmatrix} \circ & \circ & \circ \\ \circ & \circ & \circ \\ \circ & \circ & \uparrow \\ \circ & \circ & \uparrow \\ \circ & \uparrow \\ \sigma & \downarrow \\ \sigma &$  $\sqrt[3]{\vartheta_{\vartheta Z}} = \sqrt[3]{Z\vartheta} = \frac{\Gamma dW}{dZ}$  $\int I = tr(\vec{e}) = 0$ But not  $\Pi = \tilde{\gamma}_{ij} \tilde{\gamma}_{ji} = 0 + \tilde{\gamma}_{\theta Z} \tilde{\gamma}_{Z\theta} + \tilde{\gamma}_{Z\theta} \tilde{\gamma}_{\theta Z} = 2 r_{(J_z)}^2$ A homogenous Thear flow  $III = \dot{\gamma}_{ij} \dot{\gamma}_{jK} \dot{\gamma}_{Ki} = 0$ Yes this is a "Shear Flow". ("#const.) Each disc at Z= Const. is a shearing surface. I They move isometrically. and the distance between neighboring points remains Const.

(b) Inertia ~ PV terms L  $\nabla \sim R \mathcal{R}$  $L \sim R$ Viscous ~ MV terms H<sup>2</sup> V~RJ =  $\frac{\text{Inertia}}{\text{Viscous}} \sim \frac{PVH}{M} \cdot \frac{H}{L} = \frac{P(R.R)H}{\mu} \cdot \frac{H}{R}$  $= \frac{\rho SLH^{2}}{\mu} <<1$   $\frac{\mu}{R} <<1$   $\frac{\mu}{R} <<1$ 0-Comp. : Inertialess:  $0 = -\left[\frac{1}{r^2}\frac{2}{2r}(r^2\tau_{r\theta}) + \frac{1}{r}\frac{2}{2\theta}\tau_{\theta\theta} + \frac{2}{2z}\tau_{z\theta} + \frac{\tau_{\theta r} - \tau_{r\theta}}{r}\right] - \frac{1}{r}\frac{2\rho}{2\theta} + \frac{\rho_{g}}{\rho_{\theta}}$ -> Sym. with 0=> OP=0, go is also=0, 2=0 also by Knowing Jrg = 0, Jor = 0 - The corresponding Stress components will be Zero => Tro = Tor = o Even if you think that Tro may be still non-zero by lubrication:  $\frac{1}{r^{2}} \stackrel{2}{\supset} r^{2} \overline{\tau_{\theta}} \sim \frac{\tau}{F} \ll \frac{\tau}{H} \sim \frac{2}{\sqrt{2}} \overline{\tau_{2\theta}} \Rightarrow All the terms$   $\Rightarrow \frac{2}{\sqrt{2}} \overline{\tau_{2\theta}} = 0 \Rightarrow \overline{\tau_{2\theta}} = Const. with \underline{z} \mid will vanish...$ (2)

TZA = fun(VZA) TZO = Const. with Z => VZO = Const. with Z => rdW = C FWACEDER the Walland => rw(Z) = GZ + C2 No slip boundary Condition Z=0 \$ r W(Z)=0 \$ C2=0 Vaso Z = H $\chi = H$   $V_0 = \Gamma SZ = P \Gamma W(Z) = \Gamma SZ = G H$  $\Rightarrow C_1 = \frac{r_{SC}}{H}$  $\Rightarrow V_{\theta}(r, Z) = \Gamma W(Z) = \frac{\Gamma \Omega}{H} Z \Rightarrow W(Z) = \frac{\Omega}{H} Z$  $\mathcal{D}_{02} = r \frac{dW}{dZ} = r \frac{\mathcal{R}}{H} \Rightarrow \mathcal{D}_{02}(r) = r \frac{\mathcal{R}}{H}$  changes linearly with r => YOZ(R) = RR  $= \lambda \dot{\gamma}(r) = \frac{r}{R} \dot{\gamma}_R$ (C)  $T = 2\pi \left( \frac{R}{\gamma r} \right) \delta r^2 dr$ ?? Dos Side View dT=rTdA dF = TJA i k T = TZO = 1 VOZ TOP View  $dA = (2\pi r) dr$ 

3

$$= T = \int dT = \int r \, dF = \int r \, \tau \, dA = \int r \, \gamma(\dot{\gamma}_{BZ}) \, \dot{\gamma}_{BZ}(2\pi r) \, dr$$

$$T = \int (2\pi)r \, \gamma(\dot{\gamma})\dot{\gamma}dr$$

$$r = \frac{R}{\dot{\gamma}_{R}} \quad \dot{\gamma} \quad \dot{\gamma}_{R}$$

$$r = \frac{R\dot{\gamma}}{\dot{\gamma}_{R}} \quad \dot{\gamma} \quad \dot{\gamma} \quad \dot{\gamma}_{R}$$

$$r = \frac{R\dot{\gamma}}{\dot{\gamma}_{R}} \quad \dot{\gamma} \quad \dot{$$

$$= \int_{1}^{R} \frac{(T/2\pi R^{3})}{\dot{\gamma}_{R}} \left(3 + \frac{d \ln(T/2\pi R^{3})}{d \ln \dot{\gamma}_{R}}\right)$$

$$= \int_{R}^{R} \frac{2\pi R^{3}}{R}$$

$$= 3$$
(e) Newtonian:  $\eta(\dot{\gamma}_{3} = \mu = 5T = \int_{0}^{R} (2\pi)r^{2}\mu\dot{\gamma}dr$ 

$$\dot{\gamma}_{R} = \frac{r}{H}$$

$$= 5T = 2T \int_{0}^{R} \mu \frac{s_{R}}{r}r^{3}dr = 2\pi \mu \frac{s_{R}}{H} \frac{R^{4}}{4}$$

$$= 5 \left[T = \frac{2\pi \mu s_{R}}{H}\right]$$

$$T/2\pi R^{3} = \frac{\mu s_{R}}{4H}$$

$$\dot{\gamma}_{R} = \frac{R s_{R}}{H} \Rightarrow \frac{T/2\pi R^{3}}{\dot{\gamma}_{R}} \left(3 + \frac{d \ln(T/2\pi R^{3})}{d \ln \dot{\gamma}_{R}}\right)$$

$$= \frac{\mu}{4} \left(3 + \frac{d \left[\ln(\frac{\mu}{sH}) + \ln \dot{\gamma}_{R}\right]}{d \ln \dot{\gamma}_{R}}\right)$$

$$= \frac{R}{4} \left(3 + 1\right) = \mu \sqrt{R}$$
Power Law:  $\eta(\dot{\gamma}) = K\dot{\gamma}^{n-1} \Rightarrow T = \int_{0}^{R} 2\pi r^{2} K \dot{\gamma}^{n} dr \quad \dot{\gamma} = \frac{r}{H}$ 

$$\Rightarrow T = \int_{0}^{R} (2\pi) K \left(\frac{r^{2}}{H}\right)^{n} r^{n+2} dr = \frac{2\pi n^{n}}{H^{n}} K \frac{R^{n+3}}{n+3}$$

$$T/2\pi R^{3} = \frac{r^{n}}{H^{n}} K \frac{R^{n}}{n+3} = \Rightarrow \cdots \Lambda e^{nkt} Page \cdots$$

 $\frac{d}{\partial R} \frac{T/(2\pi R^3)}{\delta R} \left[ 3 + \frac{d \ln(T/2\pi R^3)}{d \ln \delta_R} \right]$  $= \frac{SL}{H^{n-1}} \frac{R^{n-1}}{R^{n+3}} \left[ 3 + \frac{d \left[ ln(K_{n+3}) + n ln(\tilde{Y}_{R}) \right]}{d ln \tilde{Y}_{R}} \right]$  $= \frac{J^{n-1}}{H^{n-1}} \left( \frac{R^{n-1}}{n+3} (3+n) \right) = K \left( \frac{J^{2}R}{H} \right)^{n-1} = K \tilde{S}_{R}^{n-1} = \eta(\tilde{S}_{R}) \sqrt{J}$  $(f) = \frac{\gamma(s) - \eta_s}{\eta_o - \eta_s} = \left[1 + (\lambda s)^2\right]^{(n-1)/2}$ 10= 1(v=0) → ~ 2 Pa.s => 70~ 2 Pa.s  $\eta_s = \eta(\vec{x} = \infty) \Rightarrow \eta_s \simeq 2 - 3 m Pa.s$  $\simeq 2 \times 10^3 Pa.s$ A = (Shear rate at which 37 (3) falling )  $=(10^{\circ}s^{-1})=15^{\circ}=7^{\circ}\lambda^{\circ}=15^{\circ}ee$ Att  $\gamma(\vec{x}) \stackrel{\sim}{\simeq} \stackrel{n-1}{\Rightarrow} n-1$  power coefficient in  $\gamma(\vec{x})$  curve... it drops for 10 Pa.s to  $10^2$  Pa.s as we go from  $10 \text{ s}^{-1}$ to  $10^3 \text{ s}^{-1} \Rightarrow \text{ n} - 1 = \frac{-2}{3} \Rightarrow \text{ n} = \frac{1}{3}$ (6)

(g) Y = comp.  $\Xi = \begin{bmatrix} 0 & 0 & 0 \\ 0 & -(\gamma_1 + \gamma_2)\vec{v} & \gamma \vec{v} \end{bmatrix}$ Inertia ignored:  $\begin{bmatrix} 0 & 0 & 0 \\ 0 & -(\gamma_1 + \gamma_2)\vec{v} & \gamma \vec{v} \end{bmatrix}$  $\frac{-1}{r}\frac{\partial}{\partial r}(rT_{rr}) - \frac{1}{r}\frac{\partial}{\partial \theta}T_{\theta r} - \frac{\partial}{\partial t}T_{zr} + \frac{\tau_{\theta \theta}}{r} - \frac{\partial \rho}{\partial r} + \rho g_{r} = 0$ gr=0; Trr=0; 2 =0; Tzr=0;  $\frac{1}{r} = \frac{1}{r} = \frac{1}{r} = \frac{1}{r} = \frac{1}{r} = \frac{1}{r} = \frac{1}{r} = \frac{1}{r}$  $= \int \int_{r} \frac{\partial P}{\partial r} dr = \int_{r} \frac{\tau_{\theta\theta}}{r} dr = \int P(R) - P(r) = \int_{r} \frac{(\gamma_{1} + \gamma_{2}) \dot{\vec{x}}}{r} dr$  $= Pa - PHI = \int_{-\frac{1}{2}}^{\sqrt{R}} \frac{(\gamma_1 + \gamma_2)^2}{(\gamma_1 + \gamma_2)^2} \frac{(R)}{\sqrt{R}} \frac{(R)}{\sqrt{R}} \frac{1}{\sqrt{R}}$  = Paignoring surface torsion  $\frac{1}{\sqrt{R}}$  $\Rightarrow P_{cr_{3}} - P_{a} = \int_{\vec{r}_{r}}^{\vec{r}_{R}} + (\psi_{1} + \psi_{2})(\vec{r}_{r}) d\vec{r}$ (h)  $T_{zz} dA = dF \Rightarrow (P(r) + T_{zz} - P_{a}) dA = dF$ 16.2-20 in DPL Vo17 " =>  $dF = (P(r) - P(\alpha) + T_{ZZ}) dA$  $= \int dF \Big|_{r=0} = \left( P(r=0) - P_a + \Psi_2 \dot{\mathcal{Y}}_{\mathcal{X}}^2 r=0 \right) dA$   $= \int dF \Big|_{r=0} = \left( P(r=0) - P_a + \Psi_2 \dot{\mathcal{Y}}_{\mathcal{X}}^2 r=0 \right) dA$  $= \left( \int_{-+}^{\gamma_R} (\psi_1 + \psi_2) \dot{\gamma} d\dot{\gamma} \right) dA \longrightarrow It is finite$ 

Normal Force on the plate: F dF = (P(r)-P(a)+ - +2))dA  $P(r) - P(a) = \begin{cases} \delta R \\ \delta (\psi_1 + \psi_2) \\ \delta d\delta \end{cases}$  $= \sum F = \int (2\pi r dr) \left[ -\frac{\gamma_2}{\gamma_1^2} + \int (\frac{\gamma_1}{\gamma_1} + \frac{\gamma_2}{\gamma_2}) \frac{1}{\gamma_1^2} + \int (\frac{\gamma_1}{\gamma_1^2} + \frac{\gamma_1}{\gamma_1^2} + \frac{\gamma_1}{\gamma_1^2} + \frac{\gamma_1}{\gamma_1^2} + \int (\frac{\gamma_1}{\gamma_1^2} + \frac{\gamma_1}{\gamma_1^2} + \frac{\gamma_1}{\gamma_1$ dA Knowing that  $r = \frac{R\dot{N}}{\dot{N}R}$  we can change r into  $\dot{N}_r$  and the integral will be:  $\tilde{N}_R$   $\tilde{N}_R$  $F = \left(\frac{2\pi R^2}{\vartheta_R^2}\right) \int \left[-\frac{\vartheta_R}{-\vartheta_2} \frac{3}{\vartheta_r} + \frac{3}{r} \frac{\vartheta_R}{+\vartheta_1} \int \left(\frac{\vartheta_R}{(\vartheta_1 + \vartheta_2)} \frac{\vartheta_R}{\vartheta_r}\right) \right]$ Using integration by parts and the fact that udv=uv- Svdu (here it is convenient to say  $u = \int (\gamma_1 + \gamma_2) \dot{\gamma} d\dot{\gamma}$ and  $dV = \vartheta_r d\vartheta_r$ =  $V = \frac{\dot{v}_1^2}{2}$  and  $du = -(\psi_1(\dot{v}_r) + \psi_2(\dot{v}_r))\dot{v}_r$  $= \int_{1}^{N_{R}} \dot{\gamma}_{r} d\dot{v}_{r} \int_{1}^{N_{R}} (\gamma_{1} + \gamma_{2}) \dot{v} d\dot{v}_{r} = \int_{2}^{N_{R}} \dot{\gamma}_{r}^{3} (\gamma_{1} + \gamma_{2}) d\dot{v}_{r}$   $= \int_{1}^{N_{R}} Plugging into (r) : F = (\frac{\pi R^{2}}{\gamma_{R}^{2}}) \int_{0}^{N_{R}} \dot{\gamma}_{r}^{3} (\gamma_{1} - \gamma_{2}) d\dot{v}_{r}$  (8)

Now similar to parts "c" and "d" you can rearrange and use Leibniz rule to show that:

$$\Psi(\dot{v}_{R}) - \Psi_{z}(\dot{v}_{R}) = \frac{1}{\dot{v}_{R}^{2}} \left(\frac{F}{\pi R^{2}}\right) \left[2 + \frac{d \ln(F/\pi R^{2})}{d \ln \dot{v}_{R}}\right]$$

which is a "nice" expression. It helps us to get rheological

measurements out of a non-homogenous" Shear flow for any arbitrary liquid with any possible constitutive equation !!

End of Solution

Bavand 2014

9

2.341J / 10.531J Macromolecular Hydrodynamics Spring 2016

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms.